On finding integer solutions to fifth degree Diophantine Equations with five unknowns

$$6(x^3 + y^3) = 13(z^2 - w^2)p^3$$

R.Sathiyapriya^{1*}, M.A.Gopalan²

¹Associate Professor, Department of Mathematics, School of Engineering and Technology, Dhanalakshmi Srinivasan University, Samayapuram, Trichy- 621 112, Tamil Nadu, India,

Email: charukanishk@gmail.com

²Professor, Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy-620 002, Tamil Nadu, India, Email: mayilgopalan@gmail.com

Received: 17.04.2024 Revised: 18.05.2024 Accepted: 20.05.2024

ABSTRACT

Varieties of solution patterns to not uniform fifth degree polynomial equation having five variables given by $6(x^3 + y^3) = 13(z^2 - w^2)p^3$ are presented in this paper

Keywords: Quintic with five variable, Non-homogeneous quintic, Integer solutions

Launch

The subject of polynomial equations offers a plenty of motivating problems. Particularly uniform or non uniform fifth degree equations with multiple variables have aroused the interest of numerous mathematicians for a long time [1-3]. In particular, [4-6] refers to integer solutions for fifth degree equation having three variables and [7-14] refers to fifth degree equation having five variables. The above problems motivated us to obtain choices of integer solutions to the non uniform fifth degree equation having five variables presented by $6(x^3 + y^3) = 13(z^2 - w^2)p^3$.

Technical procedure

Non-homogeneous fifth degree Diophantine equation with five variables for solving is

$$6(x^3 + y^3) = 13(z^2 - w^2)p^3$$
 (1)

The procedure to obtain varies patterns of solution for (1) through different ways is presented as follows: Way 1

In (1) choosing

$$x = u + v, y = u - v, z = 3u + 1, w = 3u + 1$$
 (2)

gives

$$u^2 + 3v^2 = 13p^3 (3)$$

Take

$$p = a^2 + 3b^2 \tag{4}$$

where $a \neq b$

Take

$$13 = (1 + i2\sqrt{3})(1 - i2\sqrt{3}) \tag{5}$$

Utilize (4) and (5) in (3)and applying the resolving activity, we have

$$u + i\sqrt{3} v = \left(1 + i2\sqrt{3}\right) \left(a + i\sqrt{3}b\right)^3$$

After specific algebraic computations and clarification, we obtain

$$u = a^3 - 9ab^2 + 18b^3 - 18a^2b$$

$$v = 2(a^3 - 9ab^2) + (-3b^3 + 3a^2b)$$

This replacement of u and v in (2), the solutions of equation (1) are as follows

$$x = 3a^{3} + 15b^{3} - 27ab^{2} - 15a^{2}b$$

$$y = -a^{3} + 21b^{3} + 9ab^{2} - 21a^{2}b$$

$$z = 3(a^{3} - 9ab^{2} + 18b^{3} - 18a^{2}b) + 1$$

$$w = 3(a^{3} - 9ab^{2} + 18b^{3} - 18a^{2}b) - 1$$
along with (4)

Way 2

Take

$$13 = \frac{\left(5 + i3\sqrt{3}\right)\left(5 - i3\sqrt{3}\right)}{4} \tag{6}$$

Utilize (4) and (6) in (3) and applying the resolving activity, we have

$$u + i\sqrt{3} v = \left(\frac{5 + i3\sqrt{3}}{2}\right) \left(a + i\sqrt{3}b\right)^3$$

After specific algebraic computations and clarification, we obtain

$$u = \frac{1}{2} (5a^3 - 45ab^2 - 27a^2b + 27b^3)$$
$$v = \frac{1}{2} (3a^3 - 27ab^2 + 15a^2b - 15b^3)$$

Writing a by 2A & b by 2B, we have

$$u = 4(5A^3 - 45AB^2 - 27A^2B + 27B^3)$$

$$v = 4(3A^3 - 27AB^2 + 15A^2B - 15B^3)$$

This replacement of u and v in (2), the solutions of equation (1) are as follows

$$x = 32A^3 - 288AB^2 - 48A^2B + 48B^3$$

$$y = 8A^{3} - 72AB^2 - 168A^2B + 168B^3$$

$$z = 3(20A^3 - 180AB^2 - 108A^2B + 108B^3) + 1$$

$$w = 3(20A^3 - 180AB^2 - 108A^2B + 108B^3) - 1$$

$$P = 4(A^2 + 3B^2)$$

Way 3

Rewrite (3) as

$$u^2 + 3v^2 = 13p^3 *1 (7)$$

Take

$$1 = \frac{(1 + i\sqrt{3})(1 - i\sqrt{3})}{4} \tag{8}$$

Utilize (4),(6) and (8) in (7) and applying the resolving activity, we have

$$u + i\sqrt{3} v = (1 + i2\sqrt{3}) \left(\frac{1 + i\sqrt{3}}{2}\right) (a + i\sqrt{3}b)^3$$

After specific algebraic computations and clarification, we obtain

$$u = \frac{1}{2}(-5a^3 + 45ab^2 - 27a^2b + 27b^3)$$

$$v = \frac{1}{2}(3a^3 - 27ab^2 - 15a^2b + 15b^3)$$

Writting a by 2A and b by 2B, we have

$$u = 4(-5A^{3} + 45AB^{2} - 27A^{2}B + 27B^{3})$$

$$v = 4(3A^{3} - 27AB^{2} - 15A^{2}B + 15B^{3})$$

This replacement of u and v in (2), the solutions of equation (1) are as follows

$$x = -8A^3 + 72AB^2 - 168A^2B + 168B^3$$

$$v = -32A^{3^{3}} + 288AB^{2} - 48A^{2}B + 48B^{3}$$

$$z = 3(-20A^3 + 180AB^2 - 108A^2B + 108B^3) + 1$$

$$W = 3(-20A^3 + 180AB^2 - 108A^2B + 108B^3) - 1$$

$$P = 4(A^2 + 3B^2)$$

Way 4

Take

$$1 = \frac{\left(3p^2 - q^2 + i\sqrt{3} \, 2pq\right)\left(3p^2 - q^2 + i\sqrt{3} \, 2pq\right)}{\left(3p^2 + q^2\right)^2} \tag{9}$$

Utilize (4), (5) and (9) in (7) and applying the resolving activity, we have

$$u + i\sqrt{3} v = (1 + i2\sqrt{3}) \left(\frac{3p^2 - q^2 + i\sqrt{3} 2pq}{3p^2 + q^2} \right) (a + i\sqrt{3}b)^3$$

Consider

$$\left(a+i\sqrt{3}b\right)^3 = f(a,b) + i\sqrt{3}g(a,b)$$

 $f(a,b) = a^3 - 9ab^2$

Where.

$$g(a,b) = (3a^2b - 3b^3)$$

Therefore

$$u + i\sqrt{3} v = (1 + i2\sqrt{3}) \left(\frac{3p^2 - q^2 + i\sqrt{3} 2pq}{3p^2 + q^2} \right) (f(a, b) + i\sqrt{3}g(a, b))$$

$$u + i\sqrt{3} v = \frac{1}{(3p^2 + q^2)} \left[\{ (3p^2 - q^2)[f(a,b) - 6g(a.b)] - 6pq[g(a,b) + 2f(a,b)] \} + i\sqrt{3} \{ (3p^2 - q^2)[2f(a,b) + g(a,b)] + 2pq[f(a,b) - 6g(a,b)] \} \right]$$

Replacing a by $(3p^2+q^2)$ A, b by $(3p^2+q^2)$ B and equating coefficients of corresponding terms, we have

$$u = (3p^2 + q^2)^2 \{ (3p^2 - q^2)[f(a,b) - 6g(a.b)] - 6pq[g(a,b) + 2f(a,b) \}$$

$$v = (3p^2 + q^2)^2 \{ (3p^2 - q^2)[2f(a, b) + g(a.b) + 2pq[f(a, b) - 6g(a, b)] \}$$

This replacement of u and v in (2), the solutions of equation (1) are as follows

$$x = (3p^2 + q^2)^2 \{ (3p^2 - q^2)[3f(a, b) - 5g(a.b)] - 10pqf(a, b) - 18pqg(a, b) \}$$

$$y = (3p^2 + q^2)^2 \{ (3p^2 - q^2)[-f(a, b) - 7g(a.b)] - 14pqf(a, b) - 6g(a, b) \}$$

$$z = 3\{(3p^2 + q^2)^2\{(3p^2 - q^2)[f(a, b) - 6g(a.b)] - 6pq[g(a, b) + 2f(a, b)\} + 1\}$$

$$w = 3\{(3p^2 + q^2)^2\{(3p^2 - q^2)[f(a, b) - 6g(a, b)] - 6pq[g(a, b) + 2f(a, b)\} - 1\}$$

$$p = (3p^2 + q^2)^2 (A^2 + 3B^2)$$

Way 5

Taking

$$v = 2p \tag{10}$$

in (3), it reduces to

$$u^2 = p^2(13p - 12) \tag{11}$$

Take

$$\alpha^2 = 13p - 12 \tag{12}$$

Whose smallest positive integer solutions are $p_0=1, \alpha_0=1$ Let the second solution of (12) be

$$\alpha_1 = h - \alpha_0, p_1 = h + p_0$$
 (13)

Substituting (13) in (12)& on simplifying, we get

$$h = 2\alpha_0 + 13$$

From (13), it is seen that

$$\alpha_1 = \alpha_0 + 13, p_1 = p_0 + 2\alpha_0 + 13$$

Repeating the above process, the solution of (12) in general be

$$p_n = p_0 + 2n\alpha_0 + 13n^2 = 1 + 2n + 13n^2$$
(14)

$$\alpha_n = \alpha_0 + 13n = 1 + 13n$$

In view of (10) and (11), one obtains

$$v_n = 2(1 + 2n + 13n^2)$$

$$u_n = p_n \alpha_n = (1 + 2n + 13n^2)(1 + 13n)$$
(15)

Using (15) in (2), we have

$$x_n = (1 + 2n + 13n^2)(3 + 13n)$$

$$y_n = (1 + 2n + 13n^2)(-1 + 13n)$$

$$z_n = 3(1+2n+13n^2)(1+13n)+1$$

$$w_n = 3(1 + 2n + 13n^2)(1 + 13n) - 1$$

(16)

Thus (1) is satisfied by (16) and (17)

Way 6

Taking

$$v = 2kp \tag{17}$$

in (3), it reduces to

$$u^2 = p^2(13p - 12k^2)$$
 (18)

Take

$$\alpha^2 = 13p - 12k^2 \tag{19}$$

Whose smallest positive integer solutions are $p_0=k^2, \alpha_0=k$ Let the second solution of (19) be

$$\alpha_1 = h - \alpha_0, p_1 = h + p_0$$
 (20)

Substituting (20) in (19) & on simplifying, we get

$$h = 2\alpha_0 + 13$$

From (19), it is seen that

$$\alpha_1 = \alpha_0 + 13, p_1 = p_0 + 2\alpha_0 + 13$$

Repeating the above process, the general solution to (19) is given by

$$p_n = p_0 + 2n\alpha_0 + 13n^2 = k^2 + 2nk + 13n^2$$
(21)

$$\alpha_n = \alpha_0 + 13n = k + 13n$$

In view of (17) and (18), one obtains

$$v_n = 2k(k^2 + 2nk + 13n^2)$$

$$u_n = p_n \alpha_n = (k^2 + 2nk + 13n^2)(k + 13n)$$
(22)

Using (22) in (2), we have

$$x_{n} = (k^{2} + 2nk + 13n^{2})(3k + 13n)$$

$$y_{n} = (k^{2} + 2nk + 13n^{2})(-k + 13n)$$

$$z_{n} = 3(k^{2} + 2nk + 13n^{2})(k + 13n) + 1$$

$$w_{n} = 3(k^{2} + 2nk + 13n^{2})(k + 13n) - 1$$
(23)

Thus (1) is satisfied by (23) and (21).

Way 7

Taking

$$v = 3p \tag{24}$$

in (3), it reduces to

$$u^2 = p^2(13p - 27) (25)$$

Take the second solution of (26),

$$\alpha^2 = 13p - 27 \tag{26}$$

Whose smallest positive integer solutions $\ are \ p_0=4, \alpha_0=5$

$$\alpha_1 = \mathbf{h} - \alpha_0, \mathbf{p}_1 = \mathbf{h} + \mathbf{p}_0 \tag{27}$$

Substituting (27) in (26) & on simplification, we get

$$h = 2\alpha_0 + 13$$

From (27), it is seen that

$$\alpha_1 = \alpha_0 + 13, p_1 = p_0 + 2\alpha_0 + 13$$

Repeating the above process, the general solution to (26) is given by

$$p_{n} = p_{0} + 2n\alpha_{0} + 13n^{2} = 4 + 10n + 13n^{2}$$
(28)

 $\alpha_n = \alpha_0 + 13n = 5 + 13n$

In view of (24) and (25), one obtains

$$v_n = 3(4+10n+13n^2)$$

 $u_n = p_n \alpha_n = (4+10n+13n^2)(5+13n)$

Using (29) in (2), we have

$$x_{n} = (4+10n+13n^{2})(8+13n)$$

$$y_{n} = (4+10n+13n^{2})(2+13n)$$

$$z_{n} = 3(4+10n+13n^{2})(5+13n)+1$$

$$w_{n} = 3(4+10n+13n^{2})(5+13n)-1$$
(30)

Thus (1) is satisfied by (30) and (28).

Inference

Many choices of solution patterns to not uniform fifth degree polynomial equation having five variables given by $6(x^3+y^3)=13(z^2-w^2)p^3$ are presented in this paper. One may search for integer solutions to other forms of quintic Diophantine equations with three or more variables

REFERENCES

- [1] Carmichael RD. The theory of numbers and Diophantine Analysis, Dover Publications, New York,
- [2] Dickson LE.History of Theory of Numbers, Chelsea Publishing Company, New York, 1952,
- [3] Mordel LJ. Diophantine Equations, Academic Press, New York, 1969.

(29)

- [4] Gopalan MA, Vijayashankar.An interesting Diophantine problem $x^3 y^3 = 2z^3$, Advances in Mathematics, Scientific Developments and Engineering Application, Narosa publishing House, 2010, 1-6
- $[5] \begin{array}{llll} & \mbox{Gopalan} & \mbox{MA,Vijayashankar.Integral} & \mbox{solutions} & \mbox{of ternary quintic Diophantine equation} \\ & x^2 + (2k+1)y^2 = z^5 \end{array}, \\ & \mbox{International journal of mathematical Sciences 2010;19(1-2):165-169.} \\ & \mbox{Gopalan MA, Sumathi G, Vijayalakshmi S, Integral Solutions of non-homogeneous ternary quintic} \end{array}$
- [6] Gopalan MA, Sumathi G, Vijayalakshmi S, Integral Solutions of non-homogeneous ternary quintic equation in terms of pells sequence $x^3 + y^3 + xy(x+y) = 2z^5$, JAMS2013;6(1):56-62
- [7] Gopalan MA, Vijayashankar.Integral solutions of non-homogeneous quintic equation with five unknowns $xy-zw=R^5$, Bessel JMath2011;1(1):23-30
- [8] Gopalan MA, Sumathi G, Vijayalakshmi S.On the non-Homogeneous quintic equation with five unknowns $x^3 + y^3 = z^3 + w^3 + 6T^5$, IJMRA2013; 3(4):501-506.
- Gopalan MA, Vijayalakshmi S, Kavitha A,Premalatha E.On the quintic equation with five unknowns $x^3-y^3=z^3-w^3+6t^3$,International Journal of Current Research 2013;5(6):1437-1440.
- Gopalan MA, Vijayalakshmi S, Kavitha A.On the Quintic equation with five unknowns $2(x-y)(x^3+y^3)=19(z^2-w^2)p^3$, International Journal of Engineering Research 2013; 1(2):279-282.
- [11] Vijayalakshmi S, Lakshmi K, Gopalan MA.Observations on the homogeneous quintic equation with four unknowns $x^3 y^3 2z^3 + 5(x+y)(x^2-y^2)w^2$, IJMRA2013; 2(2):40-45.
- [12] Vidyalakshmi S,Mallika S,Gopalan MA.Observations on the non-homogeneous quintic equation with five unknowns $x^4 y^4 = 2(k^2 + s^2)(z^2 w^2)p^3$, International Journal of Innovative Research in Science, Engineering and Technology 2013;2(4):1216-1221.
- [13] Gopalan MA ,Vidhyalakshmi S, Maheswari D.Observations on the quintic with five unknowns $x^4-y^4=37(z^2-w^2)p^3, \\ International Journal of Applied Research 2015;1(3):78-81$
- [14] Gopalan MA, Vidhyalakshmi S, Premalatha E, Manjula S.The Non-homogeneous quintic equation with five unknowns $x^4 y^4 = 2(x^2 y^2)(x y)^2 = 14(z^2 w^2)p^3$, International Journal of Physics and Mathematical Sciences 2015;5(1):64-69.